
�)�)���8
������������������1�����&�%����>,�����������?����?3*4
7��4?3�;?1>03�*>4

��

�2)# �)�D�62

;�� ���0
�6�6D�)(#

�	9%��%=
-	
'�������

;��
�
1����'���

�/�������&�$��.���&$&'�.4��/���&3.%%&P�/.��

�.,�'�M��%�!./%��.6'��E���.F�'�

���������	����&%3����������

�����&
0��.)�&#�#���.52�,&3.%%$���'&3&
#%�
$

6��.6��	
�&
/�!./%&��.6'��&������	�����������

��$�6.�3�7 Q	�����
5��	����
�=	
��
Q
� �

�5.6&�0'2
#.6�7 Q	�����
5��	����
����%���%��
Q
� �

,������"���������A���������A�����%��
��

��%�!����������%��
�����������������A��

.��@��"%5�aB�.���
���)�����1�+
��������
��

����
<'
���F
A)�)2B

�=���
 �
�����
 =��
 �	V����
 $	=�
 Q	����)
 ���
 ��
	���'
 ��@� ��%��
 <'

V�
�	 �
 �%�����@�%
 �=�	
����
 ��+�%����'
 �=	��
 	@
 ���5 ��
 Q
� �
 ���
 *�
�

� ���V
 $ ���
 3��=	 �=
 �
 �	�
 	@
 %
���%��
 +�+�
�
 =�V�
 ��
���'
 <���
 �
�����

�<	 �
 Q
� ����
 ���
 $ �����
 ��@� ��%��
 	�
 Q	����K�
 	� V
���
 �	�
 5 %=

%
���%��
�������	�
=��
<���
��V��
�	
�=�
+=��	5��	�
��	��
��
�=�
5��	���!

�=	
�
%	5+��c�
	
�������'
%
�����
<'
Q
� ��
���
@ 
�=�

��V��	+��
<'
	�=�


)
$	=�
?	<�
�
Q	����
 A)��(D�22�B
���
�
-
����=
�
���

�� %����
��
1c@	
�
���
�+�%��!

������
 ��
 Q
��%=
 ����
�� 
��
 8��
 	� V
�
 ��
 �	�
 � <���������
 ��
 =�
 �
	��
 	��'
 �
 @��
 �	V���O

)��� ���������� A)�(6B�� )��� &�#"�� A)�((�
 
�V����
 V�
��	�
 )�,,B�
 ���
��� &���
�� A)�,,B�� )��

@������ 8
�"������=�� ,����� A)�(�B�� &���
���� A)�/�B�� B� &�##��� A)�/�B��8�
 ��
 ���	
 �=�
 � !

�=	

	@
)���B�
����� A)�(#B�D
�
<		�
	@
+=��	�	+�%��
 ����'�
D
���
�
 %	���%��	�
	@
 �=	
�
 ��	
���

��������
)��� L
���� )�!��� A)�,#B��8�
 ���	
 �
	��
 +	�5�
 ���
 <		��
 	@
 �	�!@�%��	��
 ��%� ����

=��
 9	 
�����
 < �
 =�
 ��
���
 =��
 �%%���5
 �=����
 �	
 =��
 �	V����
 �=
��
 	@
 �=�%=
 D
)���������>

���5� )��� &�#"�� ���
 )��� @������ 8
�"������=�� ,����� D
 =�V�
 <���
 ���+���
 	�
 �%
����
 8��

�
�����
 ��'��
���
=���
	����	 �
 ���
 ��%=
 	@
 =��
 <		��
 ��
 ��@@�
���
 @
	5
 �=�
 	�=�
��
 7���
�!


'
 %
���%�
 	@���
 +��%�
 =�5
 <������
 �
�����	�
 ���
 +	��5	��
���5�
 1�
 �=�
 	��
 =����
 =�

�
����
 ��
 �
��'
 �'+�%��
 	@
 
�����5�
1�
 �=�
 	�=�

 =����
 =�
  ���
 V�
�	 �
 �c+�
�5�����
 ��%=!

��g ��
 %=�
�%��
����%
 	@
 +	��5	��
����
 �
������
 � %=
 ��
 5 ���+��
 V���+	�����
 ����
����V�

��������
5���@�%��	��
 ���5����
 	@
5���%
 
�����5�
�
 1��
 �c�5+��
5��=�
 <�
��������#�� 
�� ���� 6�A���� 
�� ����� @�!���� <'
 *=
������
 8�� !

�=�V�O
 =��+�OUU�����%���5����� U)(2�#)�U��'%=	�	�'p��p�=�p0	V���p<'p$	=�pQ	����
 S3%!

%�����
$ ��
,�
�2)#T



�)( �	9%��%=
-	
'�������

+�'%=	����'����
����
���'
 �+�������
 �=�
5��	���!�=	
�
 %	5+��c
 ��
 �
 ����

	@
 ��c ��U+�
�	�����'
 ���	
��

 �=�%=
 �@@�%��
 �=�
 ��'
5��
 +�
%��V�
 �	5���

3
5��
� @@�
���
 @
	5
 �=�
 %	5+��c
��V����
�	5��
 ���	
 	��'
 ��	
 %����	
���O

5��	�����
 �=��
 ��
 =	�	 
�<���
 
��+�%��<��
 ���
 + 
�
 �	5���
 ���
 �=	
��

D
��
�'�
+
	5��% 	 �
��c
�	'��
�=�
5���
+
	<��5
@	

 �=�
� @@�
�

D
���
�=�


���	�
 �='
 �=�
 %	5+��c
 �=	 ��
 <�
 �
�����
 ��
 �
 ��
�	 �
 ���	
��

 D
 ��
 �=�

5��K�
���<����'
�	
%	5<���
�	V�
���
��c
��

�����	�
�	
�
������
@�5���
	<9�%��

� %=
�
5��
�	V��
���

��+�%��
�=�
5��	���
@�� 
��
�=	
	@���
=�++���
�	
<�

=��
��@��
< �
��
 � ���'
 ��<��
�	
=�V�
��c ��

�����	��=�+
���=
=�
�
�=��
��

�=�

���	�
�='
�
�	�
	@
5��
%	55��
�� ���
'
���
� 
�
�	
�=�
�=	
�
@�� 
��

���=
 �=	5
 �=�
 
�����	��=�+
 ��
 <����
 	�
 ��c ��
 �%�
 ���=	 �
 �	V��
 ���

�� ������
 �=�
 � �=	

 	@
&�%����],�����������?5���@����
 �=�
 ���	
��

 ��

�
v��c ��
�'�@ �%��	�
��
�=�%=
�	5�
5��
<����V�
�=��
��c
��
�
��
�'
�%�
�=��

��
 	��'
 ��9	'��
 <'
 [<��Z
 �	5��
 D
 �=	
���
 Q	

 �=���
 5���
 ���
 �	5��
 �
�

��V����
 ���	
 ��	
 V�
'
 ��@@�
���
 �
	 +�O
 �=�
 �=	
��U+
	���� ���U=�
�	���

�	5��
�=	
�
�
�����'
��� %��
���
�=	
��9	'
 �=�
��
�'
�%�
	@
 ��cY
���
 �=�

���	����UV�
����
A���B
+ 
�
�	5��
	@
V�
� �
�=	
�	 ��
��V�

��9	'
��c
���

�=	
�	 ��
�	�
<�
���
����
<'
�=�
��c
�%�F6�

�'+�%��
 	@
 �=�
 %	5+��c
 ��
 �=�
 ����	%����	�
 	@
 �=�
 v�����
F
 ���
 �=�

v���� ��F
 A	

 �	V�
 ���
 ����
�B�
 �=�%=
 ��
 %� ���
 <'
 �=�
 @�%�
 �=��
 ��
 �=�

� @@�
�
K�
5���
�=�
5��	���
@�� 
�
��
��
@�%�
�

�+
��������	�
	@
�=�
5	�=�


@�� 
��
 ���=�

 
���
 	

 �5�����
'
 �@
 �=�
 5��
 ���
 �	�
 =�V�
 �
 5	�=�

 	

 �=�


�����	��=�+
���=
=�

���
��V	��
	@
��
5�=
���
�@@�%��	��
��
<	�=
%����
�=�

5��
 ��
  ��<��
 �	
 =�V�
 �
 ��c ��
 
�����	��=�+
 ���=
 �=�
 5��	���
 @�� 
�
 @	


@��

 	@
 %	55������
 ��%����
 �=�%=
 %	���g ����'
 �����
 �	
 �
�%����
 �'�@ �%��	�

%�����
 <'
Q
� �
 v+�'%=�%��
 �5+	���%�F�
�=�%=
5����
 �=��
 v�=��
 @��� 
�
5�'

A���B
 =�++��
 	��'
���=
 %�
����
�	5��
 S5��	����TF�
 �=�
���
 	�=�
����
 v�=�

5��
 5�'
 <�
 @ ��'
 @ �%��	���F#�
 �	
�	V�
�
 �
 5��
 �=	
 ��
 
	5����%���'

��V	�V��
 ���=
 �=�
 5��	���
 @�� 
�
 �����
 �	5�
 	 ����
 @	

 =��
 ��c ��
 �
�V��

���
 �= �
 =�
 ���
��
 �		����
 @	

 �=�
 �=	
�
 @�� 
��
 �	5�	��
 �	����'
 ��@@�
���

@
	5
=��

���
	

+
	9�%���
V���	�
	@
�=�
5	�=�
�
�	5�	��
v��=�%���'
 ��@�
�	
F�

�=�
 +=��	5��	�
 ��
 	@���
 
�@�

��
 �	
 ��
 v�=�
 ���
�����	�
 	@
 �=�
 ��c ��

	<9�%�F�
���
��
�=�
� <9�%�!5����

	@
Q
� �K�
��5����
����'
��������
v1�
�=�

;��V�
���
 ������%'
 �	
 ��<���5���
 ��
 �=�
 �+=�
�
 	@
 7	V�F
 A)�)�B�

0	����'��
 �=�
 %	5+��c
 ��
 ����
 ��
 g ���
 �
 %	55	�
 ��c ��
 ���	
��

 ���
 ��

	@���
5����	���
 ��
+	+ ��

 % �� 
�
���
 ��<�	��
�
��%���(
��
����
��
5���%��

6
 ��
�� ������
&�%����],�����������?�� 8�A��!
���"�� .�?�� .�?�!
���"�� 8�A�5
 7�%���	�

�2))�
+�
��
#
;�
8�
�5����
.
#�"���@��"%� ��%�7
��  ������ ���+"��J�%������%
�#� �1�&���� .�?"��

���1"���
��� S��OT
 v$	 
���
	@
��c ��
����%���F
�22��
3 �
(
 A/B�
+�
�66��
�
�<����
+�
�66��
(
3
 �	�
	@
 %���<
�����
���
+ <��%
 @�� 
��
�
�
����
 �	
=�V�
�=�
5��	���!�=	
�
%	5+��c�
 @	


�c�5+��
-���
*����	��
Q
���
&�@���
4�V��
�
����'�
 �	
��5�
< �
�
 @���
���
�� ������
	+�
%���



�),)���8
������������������1�����&�%����>,�����������?���

���
 �	%�	�	��%��
 9	 
�����
 < �
 ��
 Q	����K�
 ��@���5�
 ��
 ���
 �	�
 �	
 �����'

��	���
0�V�
�=������
Q	����K�
�	V���
%	�����
%���

�V����%�
�=��
�=�
�
���


=��
�
�<	 �
 �=�
+=��	5��	�
���
 ��	 <����'
 �������
 ��
 �c�����V��'
�=���

%
������
=��
����
�
'
%=�
�%��
��

�=�
��5
	@
�=�
@	��	����
+�+�

��
�	
�
�%�
�=�
���5����
	@
�=�
5��	���!

�=	
�
 %	5+��c
 ��
 ��	
 	@
 Q	����K�
 �	V����
 ��5��'
 )��� ���������� ���� )��

&�#"��� ���%�
 �=�
 ���	
��

 �@@��%��
 5���
 �
 %	�%���
���
 	�
 �=�
 5���
 +
	!

���	�����
 D
 Q
���
�%�
 *����
 ���
 0�%=	���
 ;
@�
 
��+�%��V��'�
 �=�
 5���

	<9�%��V�
 ��
 �	
 ����'��
 �=�
 ��'
 �=�
 5��	���!�=	
�
 %	5+��c
 �=�+��
 �=���

+
	���	�����K
 +�
�	��������
 ���
 ��@� ��%��
 �=�
��'
 �=�'
 +�
%��V�
 �	5��
 ��

����
���
��
����
��
=	�
�=�'
%
����
���
5�������
 A	

����
	'B

�����	��=�+�

���=
 +�
��% ��

 @�5���
 +
	���	������
 ��
 @�%��
 �=�
 5��	���!�=	
�
 %	5+��c

5�'
 <�
 �
�����
 ��
 �
 �%�@@	�����
 	�
 �=�%=
 �=�
 
�����	��
 <������
5���
 ���

@�5���
+
	���	�����
�
�
< ���
 +�
4�%=
	@
�=�
��	
�	V����
=	��V�
�
�	��
��
��

�
����=��'
��@@�
���
��'�

)��� ���������� A)�(6B
 +
������
 �
 5���
 +
	���	����
 D
 Q
���
�%�
 AQ�
��!

����B
*����
D
�=	
� @@�
�
@
	5
5	
�
�=��
	��
���	
��
�
��
@�%��
=�
�c=�<���

�
 V�
'
 <
	��
 �+�%�
 5
 	@
 +�'%=	�	��%���
 ��c ��
 ���
 +�
�	�����'
 ���	
��
��

0	�
 	��'
 ��
 =�
 �
 �'+�%��
 +�'%=	+��=�
 < �
 =�
 �=	��
 �����
 	@
 V�
�	 �
 ��c ��

+�
V�
��	���
 � %=
 ��
 �����5
 ���
 5��	%=��5�
 @����=��5�
 V	'� 
��5
 ���

V�
�	 �
 +�
�+=������
 �=���
 ��V����	���
 =	��V�
�
 �
�
 �	�!�=
��������
 ��

%	5+�
��	�
���=
 �=�
5��	���!�=	
�
 %	5+��c�
 �=��
 ���	
��

 ��
 �=�
 �
�V���

@	
%�
<�=���
���
	@
*����K�
�%��	��
%	�%�
����
��
����
���
�=�
��'
=�
�
����

=�

 �=
	 �=	 �
 =�

 +���=�
 ��
 ��%�����
 <'
 �=��
 +�
��% ��

 %	�����	��
 �=�

%	5+��c
 ��
 ���	
 �	
 <��5�
 @	

 ��
����K�
 ����=
 ��
 �=�
 ���
 	@
 �=�
 �	V���

Q
���
�%�
*����
5�'
<�
�
���+�%�<��
%=�
�%��
�
< �
=�
��
��
@�%�
�
��%�
5���

8��
 �%��	��
 �
�
 <�'	��
 =��
 %	��
	�
 ����
 %	���g ����'�
 =�
 �=	 ��
 �	�
 <�

%	���5���
< �
�'5+��=����
���=�

3%%	
����
 �	
 Q
� ��
 �=�
 %� ��
 	@
 �=�
 %	5+��c
 ��
 %	���%���
 ���=
 �=�

� @@�
�
K�
 
�����	��=�+
 ���=
 =��
 5	�=�

 � 
���
 %=���=		�
 A	

 ��%�
 	@
 � %=B,

���
 �=�
 ��5�
5�'
 <�
 ����
 �<	 �
 �=�
 	
����
 	@
 *����K�
 �'�@ �%��	��
 *����K�

%=���=		�
���
=��

�����	��=�+
���=
=��
5	�=�

�
�
�=�
5���

���	��
�='
=�

=��
<�%	5�
�=��
=�
���
8��
@��=�

���
������
��
�
%�

%
��=
�=��
*����
���

��	
 '��
�
 	��
 ���
 =��
 5	�=�

 �<���	���
 =�5
 �		�
 �@��
��
���
 ��
 ��
 %���


�=��
*����
=��
��V�

@	
��V��
=�
�
�=���
���%
�<���
=��
��
�'
'	 �=
���
=��

5	�=�
�
 @	

 ������%��
 *�����
 �=�
 8�
	!��

��	
�
 %	55����O
 v3 ��
 3���K�

����'�
 ����
 �		�
 
�����%�
 ��
 �	
 5��'
 �	
���
 ���
 �
 ��
��F/�
 3@��

 <����

@	
�����
<'
=��
5	�=�
�
*����
��

�����
<'
3 ��
3����
���
;�%��
��%��
�=	

���	
 =�V�
 �
 ����<���
 �� �=��

��<���
 *����
 =��
 g ���
 �
 �		�
 
�����	��=�+

,
 �	
�
 ��@	
5���	�
 �<	 �
 �=�
 	
����
 	@
 �=�
 %	5+��c
 %��
 <�
 @	 ��
 ��
 Q
� �K�
 ����'

v3
�+�%���
�'+�
	@
1<9�%�
*=	�%�
����
<'
���F
 A)�)2B�
/
 $�
 Q	�����
)������������5�7	��	��
 )��/�
 +�))�
 ���%�
 ���
 �=�
 g 	����	��
 %	5�
 @
	5
 �=��

�����	�
	@
 �=�
�	V���
��
����
��V�
 �=�
+���
� 5<�
�
 ��
+�
���=�����



�)/ �	9%��%=
-	
'�������

���=
 =��
  �%���
 < �
 ��%�
 ����
 �=��
 *����
 ��
 @�@����
 ���
 �=�
 '	 ��
 5��

�+����
=��
��	���%��%�
��
�=�
%	5+��'
	@
3 ��
3����
���
��<���
<	�=
V�
'

<	��'�
��g �����V��
@
 ��
�����
<����

���
5���
�<���

3@��

<����
�55�
���
��
� %=
�
�	c�%
��5	�+=�
�
@	

5��'
'��
��
*����

<�%	5��
�
=�
�����
5��	�'�����
3�
3��
��
-
���
+ ��
���
v�=�
�	V��
�	
��

	 �
�=�
��

�@'���
�@@�%��
	@
*����K�
=	������'
�	
�=�
�	5��
�=	
<
	 �=�
=�5

 +�
	

 @�����
�	
�	
�	F��
���	�'�'�
�=�%=
5�'
<�
��@����
��
v�
 �	��=���
���

=��
��
 	@
 �	5��
 <'
 5��
 A���B
 9 ��
 <�%� ��
 �=�'
 �
�
 @�5���F)2�
 ��
 ��
�%��'

%	���%���
 ���=
 �=�
 5��	���!�=	
�
 %	5+��c�
 3�
 ��%%	
 ���
 7���	
 + �
 ���

v�	5�
5��
 ��
�	5��
��c ���'
�	�
	��'
��
	
��

�	
< ���
 +
�=��

	��
��	�

A���B
< �
���	
A���B
<�%� ��
�=�'
�
�
���
'
���=
�	5��
��
����
���
4c+�	�����	�

�=
	 �=
��c
��
�
5����
�	5�
5��
 ��
�	
���
�V��
���=
�	5���
�	
�	V�

�=�

�	5��
 �=�'
  ��
 @	

 ��c
 �
�
 
�+
��������V��
 	@
 �=�
 �	5��
 �=	
 =�V�
 = 
�

�=�5
��
�=�
+���
�=
	 �=
�����%�
���

�9�%��	�F))�

8	��V�
�
*����
�	��
�	�
=���
���
�	5���
3@��

����
=�
@����
��
�	V�
���=

��
����
 �=	
 <�%	5��
 =��
 	<�����	��
 < �
 =�
 �	V��
 =�

 ���%����%���')��
 �	�

��c ���'�
 3�
 �
 �'+�%��
 � @@�
�

 	@
 �=�
 5��	���!�=	
�
 %	5+��c�
 =�
 ��V����

�	5��
 ���	
 	��'
 ��	
 %����	
���
 D
 �����
 5��	����
 ���
 ��
�'
 �=	
���
 1@

%	 
���
��
����
��
�=�
5��	���
�=�
���
���
�=�
	�=�

�	5��
�
�
D
����
=��

5	�=�

D
v�	5��
	@
�=�
��
����F
A*
))B�
*����K�
+�
%�+��	�
	@
=��
�	V�
	<9�%�

��
 %���
�'
 <����
 	�
 �=��
 ��%=	�	5'Y
 �=�
 ��

��	

 	@���
 5����
 %	5+�
��	��

<������
��
����
 ���
 	�=�

 ��
��
 =�
 ��	���
 Q	

 ������%��
 *����
 %	5+�
��

��
����
���=
=��
%	����� �K�
��
�@
����
��'���O
v�=�
���
���
��
����
����K��

�
 ����'�
=����
V ���

�	5���
 ��+�%����'
 ��
��F
 A*
)�B�
3�
 �	5�
	�=�

+	���

=�
��'�O
v�=�
���
�	�
 ����
�	5�
�	5��
'	 
�	�K�

��+�%�
�	
'	 
�	�K�
%�
�

�=��
'	 
�	�
'	 

��+�%���
=�

���
'	 
=��
�	
<�
V�
'
%�
�@ �F
A*
6/B�

-�@	
�
�=�
�<� %��	�
���
@	

5	��
	@
��
����K�
�5+
��	�5����
=�
�
����

=�

���=
 
��+�%�
���
=�
=��
�	
 �������	�
	@
 �< ����
=�

 ��c ���'�
 ���
 �=��

��%�
	@
��c ��
�
�V�
 ��
���	
�'+�%��
	@
�	5�	��
�=	
=��
�=�
5��	���!�=	
�

%	5+��c�
3
5��	���
 ��
 �	5�	��
 �	
 <�
 ��5�
��
 ���
 %=�
��=���
 ���
 �=��
 ��

=	�
*����
�
����
��
�����
8�
 ��	�����
���
 ���������
=�
�
=�
<����V��
=�

�	

<�
 ���	%���
 ���
 + 
�O
 v+�	+��
 	��'
 5�

���
 @	

 �	V��
 ��+�%����'
 ��
��
 ����

��
����F
 A*
 )6B�
 �=��
 ����
 	@
 <�=�V�	 

 ��
 ���	
 V�
'
 %=�
�%��
����%
 	@
 �=�

�
3�
 -
����
+
����
��� ��%� �"��"���� B� .�"%�� �1� .�?"��� +
����
��� 
�� 8
�����"���5�*
��!

< 
'!7	��	�!�������� ���
 )��(�
 +�
 )#��
)2
 ��
 ��%%	�
 ��
 7���	�
 &�%����� ������?�� ,��� ���� ���� !
��%� ��� ������ ��� !�����

-
����		��
 �2))�
 +��6�
))
�<����
+�
)#�
)�
3%%	
����
 �	
��

��5!��<���

 ��%��	��
'�
 �����
�
�
 5����
 v
�������
 �	�
 	

 %=�
�%��!


����
 <'
 �=�
 ��
�%��	�
 	@
 �	V�
 �	��
�
 ��
 	<9�%�
 A��
 �=�
 5	�=�
B
 �=��
 �����@���
 �	���c ��

�����F�
 ��
 �=��
 ����
 	@
 ����%=5����
 v@������
 ��
 �	V�
 ��
 <����
 A���B
 	�
 %	�@ ��	�
 	@
 �=�
 	<9�%�

���=
 �
 +
��c������
 �����
 �5���
 ��
 =�V�
 ��
 	 

 =����O
 ��
 �g ���
 �=�
 +�
���

 ���=
 	 


5	�=�
�
 @��=�
�
 	

 �	5�
 	�=�

 +
�5�
'
 %�
�����
�F
 -�
 Q����
 @��"%� ��%� 8����� ��� 8�A�M

B�����
�
�����L?������
��
 S��OT
 vQ��	�	@���
V������F
�22(�
M	� 5�
LLM���
0 5<�

��
+�
�(��



�)�)���8
������������������1�����&�%����>,�����������?���

5��	���!�=	
�
 %	5+��c�
 ��
 �=�%=
 v�
 5��
 � @@�
���
 @
	5
 �=�
 %	5+��c

%=		���
 �
 ��c ���'
 ���c+�
���%��
 �	5��
 @	

 =��
 ��@�
 ���
 +��%��
 =�

 	�
 �

V�
'
=��=
���
�	���'
+�������
��
	
��

�	
�	
�=�+
=�

�		�����
���
V�
� �F)6�

8��%��
 �=�
 %	5+��c
 ��
 	@���
 
�@�

��
 �	
 ��
 �=�
 +�������U� ���

 �'��
	5��

-�%� ��
	@
�=�
����������	��
�=�
+=��	5��	�
��
	@���
������
���=
�=�
%	�%�+�

	@
 ��
�����5	�
 ��
 �=�%=
 v5	
��
 V�
� �
 A���B
 +��%��
 �	5��
 	�
 �
 �	5��=��

��5�!��V���
��V��F)#�
��
�=�
%���
	@
*�����
� %=
��
���������%
+�
%�+��	�
	@
�=�

�����++��
��
�
���5�
@
	5
�=�
@�%�
�=��
=�
��
�		����
@	

�
� <���� ��
@	

=��

�<����
5	�=�
�
�=��
 ��
�=��
��
����
=�
���@
�	��%��
��
	��
+	���O
 v�
�c+�%�

��K�
'	 

5	�=�
�
X	 K
�
�		����
@	

'	 

5	�=�
F
A*
��B)��

3�
�=�
��5�
��5�
*����
%=������
=��
��c ��
����
��
�	5��=�
�
����
D
=�

V�����
 �
 +
	���� ���
 =�
 +=	�	�
�+=�
 %	 +���
 =�V���
 ��c
 ��
 + <��%
 +��%���
 =�

< '�
 <		��
 	@
 +	
�	�
�+=')(�
 8	��V�
�
 =�
 ��
 ��=�5��
 	@
 �=���
 �%��V�����O

vA���B
�
<	 �=�
���
�=�
<		��
�
�������
�	5�
	@
�=�5
�
����K�
��	�
� %=
�=����

�c������
��
�
5����

	@
@�%�
�
���
���� ����
A���B
��K�
�
�	�
��@@�
���
@
	5
�=��

�
  ���
 �	
 �
��5
 	@
 �<	 �
 ��
����
 ���
 5�F
 A*
 ),B�
 3��=	 �=
 =�
 �	��

@��������
 �<	 �
 ��
�����
 =��
 @��������
 �
�
 ���	%���
 ���
 ��V	��
 	@
 ��c ��

 ���
�	����
3�
 	��
 +	����
 �=�
��

��	

 ��'�O
 v�
  ���
 �	
 =�V�
 �
��5�
�<	 �

=�
�
 �
  ���
 �	
 �=���
 	@
 ��	
���
 �=�
�
 �
 5��
 =�
�
 ���
 �=����
 �=�
 ��5�
���

5�

���
=�

���
���
 �=���
0	�=���
����'���F
 A*
)2B�
3%%	
����
 �	
�=	5��
*�

Q	���
�
 *����
 ����
 =�5���@
 ���
 ��
����
 ��
 v+�
���
�
 ��
 ��@��
 ��
 < ���
@�'

%	���%�����
��
�
��
< �
�	�
��
<��F),�

�=��
 *����
 ���
��
 �	
 	<��
V�
 ��
�����
 =�
 �
����
 =�

 ��
 �@
 �=�
 ��
�

�
 < ���
@�'O
 v7���
 < 
���
 %	%		��
 A���B
 �
 ���
 %��%=���
 �
 
�
��'
 A���B
 3
 ����

*�	 ���
 X���	��
 @	

 ������%��F
 A*
 �B�
 -�%� ��
 *����
 ��
 ��
 �5��� 


���	5	�	����
 ���
 %	���%����
 < ���
@����)/
 ��
 �=�
 	��'
 �=���
 =�
 ��
 +����	����

�<	 ��
 � %=
 �
 %	5+�
��	�
 �=	��
 �=�
 ��+�=
 	@
 =��
 �@@�%��	�
 @	

 ��
�����

8	��V�
�
�=�
��'
*����
�
����
��
����
%=�����
�=
	 �=	 �
�=�
�	V���
���%�

�=�
��
�
��
V�
'
���+�
���
�	

�����
@
���	5�
�=�
�
���
�V�
'�=���
�	
�%=��V�

)6
��
�� ������
	+�
%����
+�
)#�
)#
��
��%%	�
��
7���	�
	+�
%����
+�
�2�
)�
 ��
 �
 ��'�
 *����
 ��
 ����
 �
 5��
 �=	
 ���
 ��V��
  +
 @	

 ��	+��	�
 ��
 �
 %=����
 �=	

D
�%%	
����
 �	
���
�� �����
D
 v��V�

���
�<��
 �	
 �c+�
���%�
 �=�
 ��
�'
<	�����
 	@
 ��@���
 �	

5	�=�
F
 ����
 %	���g ����'�
 v5�'
 �		�
 @	

 �
5	�=�

 � <���� ��
 �	
 @ �@���
 �=��
 ����F
 A��
�� !

������
 	+�
 %����
 +�
 )2B�
 �=�
 %	�%�+�
 ��
 ��	��
 ��
 v�
���@�
��%�F
 A���
 ��
 ��%%	�
 ��
 7���	�

	+�
 %���B�
 ���%�
 %�
����
 @�������
�
�
 �
���@�

��
 @
	5
 �=�
5	�=�

 �	
 �=�
��@�U��
�@
�����
)(
 *	���5+	
�
'
 �� ����
 �=	�
 V�
'
 %���
�'
 �=��
 �=�
�
 ��
 �
 %	���%��	�
 <������
 �=�

%	5+��c
 ���
 +	
�	�
�+='�
 3�
 �� �����
 �
�����
 v�=��
 <����@
 S�=��
 ��
 �=�
 <����@
 ��
 �=�
 �		�

��
�!<��
 ��
�
 ��%=	�	5'T
 	�
 �=�
 +�
�
 	@
 �=�
5��
 ��
 @
�g ����'
5	��
5���@���
 <'
 =��
 �
	 ���

�	
 �
	��%
 ����
�� 
��
5���������
5	V���
 ���
 @���������
 < �
 �	�
 �	
 =��
 +�
���
F
 A��
 �� ������

	+�
 %����
 +�)�B�
),
��
*�
Q	���
�
J�%������%
�#������@�!���5�*	� 5<���
 )��#�
+�
 �#�
)/
 *����K�
 +�
�	�����'
 ���
 ����� ��
 �	
 ��@�
 �
�
 ���	
 �=�+��
 <'
 �=�
 %	���%�	

 5�������'�

8�
 �++
�%�����
 �=	��
 �=����
 ���
 +�	+��
 �=��
 5��=�
 <�
  ��@ �
 �+�%�5���
 ��
 =��
 %	���%��	��

��
5��'
 
��+�%���
 =�
 �
����
��
����
 ��
 �=�
 ��5�
��'
 =�
 �
����
 �=�
 < ���
@����
 ���
 %	���%!

����
 ��
 �=�
 %���
��
5���+=	

	�
�=�%=
 �=�
�	V��
 ��
 %	���
 %����



��2 �	9%��%=
-	
'�������

�=��
 ��5�
 ��%� ����
 ��� %���
 *�����
 3�
 @�
��
 �=�
 �	��
 ��
 V�
'
 � <��'�
 < �

���=	 �
 � %%����
 �	
 �=�
 @�����'
 ��%����
 �	
 5���
 �=�
  ���5���
 ��%
�@�%��
 1�

0	V�5<�

62�=
�=�
����
=�
���@
���
=�

%�+�	

 ��
������
�
���
�	
����
=�5

���
 ��%	 
����
 =�5
 �	
 =�V�
 ��c
 ���=
 =�
�
 < �
 ��
 V����
 ��
 � 
��
 	 �
 �=��

*����
 ��
 ��
 �5+	�����
3@��

 �=��
 �V���
 =�
 ���
��
 �	
 =���
��
�����
 �	�
 	��'

<�%� ��
=�
@����
�c�
�5��'
= 5�������
<'
�=��
=�++����
<������
�=�5�
< �

���	
 <�%� ��
 =��
 +�
%�+��	�
 	@
 �=�
 ��
�
 ��
 �
 ������'
5��	���
 ��
 �=����
��Y

��
����
�++��
�
�	
<�
'��
��	�=�

v�	5��
	@
�=�
��
����F�

�=��
 ��
 � � ��
�<	 �
*����K�
%���
 ��
�=��
=�
@ ���
=��
	++	����
V����

	@
�	5��
��
5��	����
���
�=	
��
��
�
������
	<9�%��
�=�%=
��
��� ��
����
<'

�=�
@	��	����
����
�5O

3�	�=�

��@@�
��%�
<������
*����
���
�
 �'+�%��
� @@�
�

	@
 �=�
%	5+��c

��
*����K�
 ���<����'
 �	
=�V�
��c
���=
 v�=	
��F�
 ��
 @�%��
��'
����
	@
+='��%��

%	���%�
5����
=�5
@���
 ����'
���
���� �����
Q	

=�5�
��c
��
�
V ���

���

+
�5���V�
�%��V��'O
v�
��V�

=��
��'�=���
�	
�	
���=
�	5���
�
��V�

�=	 �=�

�<	 �
�	5��
5 %=
<�@	
�
��
�����
A����B
��K�
�	5�
%
 ��
���5��
�=���
�
���

<	
�
 ���=	 �F
 A*
 )6B�
 �=��
 ��
 �='
 =�
 ��
  ��<��
 �	
 ���
 �c%����
 � 
���
 =��

��%	 ���

���=
�
+
	���� ���
�=�%=
=�
���%
�<��
��
@	��	��O

�
�	�K�
��'
�=��
=�++�����
�c%�+�
�=��
�
���
�	
�		��
�
���
�		
��
V	 ��
�
�
���

�	
<�
��
 �@
 �
����
���
�<	 �
 ��
���
	@
%	 
��
�=�
����
�=�
���
	��
���
�=�
���

=	

�<���
 =	

�<���
 �
 5����
 <	�=
 �=�
 @���='
 ��'
 �=�
 <�=�V��
 ���
 ��
 �		���
 �=�

���
 �	
��
 %	55	��
 7���
 �
 �+�%�5��
 '	 K�
 � 
�
 ���'
 @
	5�
 	 �
 %	���%�����

�
�=	 �=�
	@
��
����
������
5�
�=�
�
����
�=���
3�
�
�����
�
�
���
�	
�	
���
< �
��

���
�	
�		�
���
�
����K�
�
'
=�
��'�
A*
)#!)�B

��
@�%��
=�
��
�	
��=�5��
�	
����
�<	 �
��c
	+���'
�=��
=�
	@���

�@�
�
�	

��
� +=�5����%���'
��
v�=�
	<V�	 �F�

�=��
��
�='
�=�
�V����
���%
�<��
��
�=�
��� %��	�
�%���
�
�
�	
�
� 5���%

@	

�=�
+
	���	�����
��
����
%
	����
�=�
<	
��

�=�%=
�=	 ��
�	�
<�
%
	�����

�=�%=
 �V��� ���'
 �����
 �	
 =�

 ����=�
 ��
 @�%��
 �=�
 ��� %��	�
 �%���
 ��
 �=�

*����K�



��))���8
������������������1�����&�%����>,�����������?���

%��5�c
 	@
 �=�
 �	V���
 �	
 ��
 ��
 �	
�=
 �		����
 ��
 �=�
 �%���
 ��
 g ����	�
 5	
�

%�	���'�
3�
���
 �����
 �=�
 �V���
 �����
 +��%�
 	�
0	V�5<�

 62�=�
3
 @��
 ��'�

��
���

��
����
 ��V�
��'
 % ��
*����
���=
 ��
 �c�
 � 
���
 	��
 	@
 =�

 ��V�
��

����5+��
��
@
�����
=�
���@�
�=��
=�
@	
��V��
=�

�=�
����%��
�=�
����O
v����

5�
�=��
�
5 ��
�	
�	
<�
���
@
���
A���B
�@
�
����
�	
<��
���=
'	 RF
A*
�#B�
�	

�=�%=
*����
 
�+����O
 v�
 ����K�
 ��	�
'	 
��
�
 �=��
 �	
�F
 A*
�#B�
�=��
 ��
�	�

�=�
 	��'
 	%%���	�
�=��
��
����
 �5+����
 �=��
 �=�
 ��
 
���'
 �	
 �	
 ��'�=����

��%� ����
 v�=�
 	<V�	 �F�
 �	
 <�
 ���
 @
���
 8	��V�
�
 *����
 �	��
 �	�
 �
���
 =�


� ������	��
 ��
�	 ��'�
 �=�%=
 �=	��
 =	�
 ��
	���'
 =�
 <����V��
 =�

 �	
 <�
 �=�

5��	����
 �=�
 5	�=�
!@�� 
�
 �=	5
 =�
 �����
 �	
 �	V�
 	��'
 �5	��	����'�
 �	�

+='��%���'�

�=���
���
	� %���
�=�
��� %��	�
�%����
*����!�=�
��

��	

��'�O

�
��	�
�=��
�	5�
�	 ��
�=����
�=�'
�	 ��
�=���
5'
<�=�V�	 

+�% ���
�
�
��	�

5	��
 5��
 �	 ��
 	��'
 =�V�
 �=	 �=�
 	@
 ������
 ��
  �@��

 ��V������
 ���
 �=�
�

��
�
+����'
	@
	++	
� �������
�
%	 ��
=�V�
 ���
�=�
+���
�	��
�=��
�
������
< �

�
�5
�	�
�=��
�	
��
��@������'
�	�
�=��
�	
�
��
����
A���B
�=��
�=�
��V�

 ���
��		�

���
 �=��
���=
5�
 ��
���
 9 ��
=�V����
8�V���
=�

���
��	 �=�
0	�=���
������

�	����
�
9 ��
������
�	
=�V�
=�
�
���
��@�
��
�����
A*
��B

�=�
 �<	V�
 +������
 ��V��
 �
 �	�
 	@
 ��@	
5���	�
 �<	 �
 *����K�
 ��'
 	@

�=�������
Q�
��
	@
����
=�
�����
�	
<�
����
��
�	5�	��
��@@�
����
��
=��
��
	��'

	��
 	@
 5��'
 	%%���	��
 �=��
 =�
 %	5+�
��
 =�5���@
 �	
 	�=�

 5��
 �=	5
 =�

���%
�<��
��
V ���
�
+
�5���V�
��%�
�=��
5����
=�5
��@@�
���
��
=��
�	���
��%�

	@
 ��c ��
 �
�V�
 �	��
��
 ��
�����
 	

 ��'	��
 �����
 ��%	���'�
 �=�
 +������

�c+�����
=��
5	��V��
@	

�����++���
�=�
��
��
�=�%=
��
9 ��
v=�V���F�
Q�����'�

�=�
�	
��
v��@�
��
����F
�
�
g ���
�5<�� 	 �
���
5�'
�5+�'
�=��
��
��
*����

=�5���@
 �=	
�����
 �	
 @���
 ��@�
 �=����
 �	
 =�V���
��
�����
 �=�%=
 � ++	
��

�=�
�=�	
'
�=��
=�
+�
%��V��
=�

��
�
5	�=�
!@�� 
��
��
����

�+
������
�=�

5	�=�
�'
��
5�=�
%�
��
�@@�%��	�
���
�	V�
�=�%=
=�
���
������
��
�
%=����

0	�
 � 
+
������'�
 �=�
�@	
��
 =�
 ���%
�<��
 �=�
 �V����
 	@
 0	V�5<�

 62�=

���=
�5	��	��

�5����%���
	@
�

�+�
V�%��5�
�=���
���%
�<���
�=�
�%���
���=

��
����
 ��
������
��
@
	��
	@
=�5�
=�
��'�O
v��
���
��

�<���
��
5���
5�
@���

��%�
���
�
�5<�����
�
���=��
�
���
	�
�=�
	�=�

����
	@
�=�
�	
���
��
���
�	
��

�=��
 ���=
 �=�
 +
	���� ��Y
 �
 ����K�
 
��+�%�
 =�
�
 < �
 ���=
 ��
����

�
����
�
%	 ���K�
�����
�=�
�=�5�F
A*
��B�
��
 @�%��
 �=�
�	
�
v�=�5�F
�++��
�

��V�
��
��5��
��
�=�
���%
�+��	�
	@
�=���
�V�����
�=��
��
���	
�	
�=
�	����
��
�=�

@�%�
�=��
*����

�5����
�c�
�5��'
+����V�
�=
	 �=	 �
�=�
�%���Y
��
��
��
����

�=	
�	��
�=����
�	
*�����
�	�
V�%�
V�
���
=�
��
�	
�=	%���
�=��
=�
��
 ��<��
�	
�	

��'�=����
 �=�%=
 ���	
 5����
 =�5
 ��5���

 �	
 �
 V�%��5
 	@
 ��c ��
 �< ���
 3@��


��
�++���
=�
���@�
��
����
 ��
�����
*����
���
�
���
�	
5���
�	V�
�	
=�5O

�
��+�
 �=�������
��	+
 ���
 ��	+
 ���
 ��K�
�
	���
< �
 �
���
 �		
�����
�=�
��c�
 �=���

���
�
���
�����
���
�=�
���
�������
5�
���
=	�����
5�
< �
�
���
���
������
��

���
 ����
 �
 ��@@�
���
5�
 ���
 �
 ��@@�
���
 �=��
 �
 ��	�
 �
����K�
 �	
5��
 �=���
 �	�



��� �	9%��%=
-	
'�������

�	���
 �=�
�c+�%����
 �=�
���
 �	5�
 �=����
�=�%=
 �
�	�K�
 ��'
�c%�+�
 �=��
 �
�	 ��

��V�

=�V�
�=	 �=�
��
	@
=�
�
�=�
��'
<�����
5�
	�
�=�
�	@�
���
�V�
'�=����
< �

�
���
���
�������
�������
A*
��!)22B

7���

	�
=�
%	�@�����
�	
<�
��
�5+	�����
�=�%=
5�'
	

5�'
�	�
<�
�
 ��

�=��
��
%�
����
��
�=��
=�
��
 ��<��
�	
���
�c%����
���=
��
����
<�%� ��
@	


=�5
=�V���
��c
���=
=�

��
����
��
�%�
	@
��%����
�= ��
*����
5�'
� @@�

@
	5

�=��
Q
� �
%����
v+�'%=�%��
�5+	���%�F�
3�
�=�
���
	@
�=�
�%���
*����
��
5��

���
 ����++	������
 =�
 �����
 �<	 �
 =��
 �	����
 
��+�%�
 @	

 ��
����O
 vA���B
 �=�

����K�
 ���
 =	�
 �	
 �	V�
5�
 ��
 �=�
 
��=�
 ��'�
 �=�
�
 ��
�
 �
 �	�
 	@
 ��'�
 �=�

%	 ��
 =�V�
 +������
 5�F
 A*
 )2�B�
 v�
 ��V�

 
��+�%���
 =�

 ������
 ��
 ��@�
 5�

���
'
@	

��'��F
A*
)26B�
vA���B
�=�
=��
������
���
�=�

	5��%��
�=�
=��
5���

=�
���@
 ����
 ��'
 	�=�

 �	5���
 �
 ����K�
 
��+�%�
 =�

 ��'
 5	
��
 �=�
�
 ���

�	�=���
 ��@�
 �	
 
��+�%�F
 A*
 )26!)2#B�
 �=���
 �������
 �<	 �
 �=�
 ��� ���	�
 �	

��
����
 �
 @��
 ��'�
 �@��
��
���
 =�
 �����
 =�
O
 vX	 K
�
 �	�
 <����

 �=��

�
 %	55	�
 ��
���!�	5��
 A���B
 �
  ���
 �	
 
��+�%�
 '	 
 <�%� ��
 �
 �=	 �=�
 '	 

��
�
�<	V�
�=��
'	 
�	��
S�=�
��� %��	�T�
0	�
����
�=�

����
- �
'	 K
�
9 ��

�=�
��5��
X	 
�	
��'
���� �����
�=���
�	
���
�=��
'	 
����F
A*
)2,B�

�=�
�@	
��
 *����K�
 +�
%�+��	�
 	@
 �=�
 ��
�
 �	����'
 %=�����
 �@��

 �=�

��� %��	�Y
 �=�
 5��	���
 %=�����
 ���	
 �=�
 �=	
��
 �=�
���
 @��%�����	�
 ��


�+��%��
���=
=��
���
0	�
 	��'
 �	��
=�
 %���
 =�

 �
 v%	55	�
 ��
���!�	5��F�

< �
=�
���
��
�	
�
���
=�

��
� %=�
�		�
�@��

�=�
��%�����
=�
	@@�
�
�	
���
=�


@
��
�@
�=�
+	���
@	

v	<�%���
+=	�	�
�+=�F�
< �
�=�
��%������
7���
�
=�
5����

=�

 +	��
 @	

 �=�
 +=	�	�
�+=�
 <'
  ����
 V�	���%��
 8	��V�
�
 v�=�
 <���
 	���

��
�
���=
=�

 @�%�
% �
	@@F
 A*
))2B�
�=�%=
5�'
<�
 ����
+
����
 ��
��	
��'��

*����
%���	�
�		�
��
=�

@�%�
<�%� ��
=�
��
��=�5��
	@
�=��
=�
=��
�	��
�	

=�

	

=�
%���	�
 �		�
��
=�

@�%�
<�%� ��
=�
���+����
=�

@	

�=��
�=�
=��

�	���
��
�=�
���=�
	@
�=�
��
���


�5�
��
�=�
�����

�c+������	�
���5�
5 %=

5	
�
+�� ��<��
D
*����
%���	�
�����
�=�
���=�
	@
��
����K�
@�%�
<�%� ��
D
��

=��
+�
%�+��	�
D
 �=�
 ��
 �=�
�=	
�
���
 �=��
 ��
�='
 �=�
=��
 �	
 <�
���
�����

�=��
 ��
  � � ���
 �=�
 ���
�����	�
 	@
 ��
����
 @
	5
 �=�
 5��	���
 ���	
 �=�

�=	
�
�	��
�	�
������
*����K�
��c ��
���
�%��	�
�	��
��
��
�����
�= ��
�	V�

��
 �	�
 
�+��%��
 ���=
 ����
��
 8	��V�
�
 =�
 �	��
 
�+�
 =�
�
 �	�
 ����
���'�
 < �

5���+=	
�%���'�
 �=��
 =�
 �����
 v	<�%���
 +=	�	�
�+=�F
 	@
 =�
�
 3�
 ��5���

*		+�

 �	����
 v	�%�
��
����
 A���B
 =��
 %
	����
 *����K�
 +�'%=�%
 ��V�����
 ����

<������
 �=�
 ���
�	�'+��
 [5��	���Z
 ���
 [�=	
�Z�
 =�
 �<���	��
 =��

���+
	+	
��	����
%=�V��
'
���
�c+
�����
=��
<
 ��
+	��

�=
	 �=
=��
%�5�
��

�=�
 
�����	��=�+
<������
��
����
���
*����
 % �5������
 ��
�
+=	�	�
�+=�%

[
�+�Z���F)��

)�
 ��
 *		+�
�
 )��� @
��
���� �1� ����� @�!����� ��!��5� �����
A
��5� 1��
�
�
���
 1������
 )��)�

+�
�,�



��6)���8
������������������1�����&�%����>,�����������?���

4V��� ���'�
 *����K�
 =	�����
 ���
 %	��
 ����� ��
 �	��
��
��
����
 D
5���

�V��
 5	
�
 �	
 �@��

 ���%	V�
���
 =�

 ���
'
 D
 �����
 �	
 �����%�
 ���
 �=�
 ��
�K�

����=�
 8	��V�
�
 �=�
 ��
 �	�
 �
 V�%��5
 	@
 *����!�
 %
�5�����
 < �
 *����!�
 ��%�

5���
 ���%�
 �=�
5��	���!�=	
�
 %	5+��c
 ��
 �
 +�'%=	�	��%��
 ���	
��

 <�'	��

�=�
� @@�
�
K�
%	��
	��
;�@	
� �����'�
�=�
�
��
�	
	��
�	
=��+
=�5�
=�
=��
�	

@�5��'
	

@
������
3�
�=�
���
	@
�=�
�	V��
=�
���
��
�		����
@	

��	�=�

V�%��5

���
��
��
V�
'
�����'
�=��
=�

@���
����
<�
�=�
��5�
��
��
����K��
3�
�=�
��5�

��5�
*����K�
 ��c�
 V�%��5
 ��
 �
 ��5+��
 �=	+!����������
 �=�%=
5����
 �=��
 �=�

��c ��
	<9�%�
=��
<���
���
�����2�

3
����=��'
��@@�
���
+	
�
�'��
	@
 �=�
5��	���!�=	
�
%	5+��c
 ��
+
����!

���
��
)���&�#"���*	��
�
'
�	
Q
���
�%�
*�����
�=�
5���
+
	���	����
	@
�=��

�	V��
D
0�%=	���
;
@�
D
��
�V�
'�=���
< �
�
��c ��
�<������
�
1�
�=�
%	��
�!


'�
��
�=�
<��������
	@
�=�
�	V��
=�
D
��
�=�
��

��	

	@
�=�
��	
'
D
+
������

=�5���@
 ��
 �
 ��c ��
 +
����	
�)�
 ��
 ����� ��
 �=�%=
 ��
 	@���
 �'+�%��
 	@
 �=�

5��	���!�=	
�
 %	5+��c��O

�
����K�
%	���%�
%	�g �����
< �
<'
�=�
��5�
�
��@�
1c@	
�
�
���
�
�	���
��
��
���'

@
	5
V�
�����'�
�
@	 ��
5'
��c ��
� %%���
���
�=�
�++�
����'
�+=�5�
��
��� 
�

	@
 �	V�
�g ���'
+��������
��
���
����
<����
�		�
��
�	�@�
< �
���+�����
�=�
��5��

1��
 ���
 %	V�
��
 ���
 
	 ���
 <	�=
 �=��
 	��
 +��'��
 ���
 �=��
 	��
 ����K��

�
%	��
�V��
5	��
	@
5'
�@@��
�
��
�=�
V�%���	���
���'
@
	5
1c@	
��
���%�
�=�
���

��
5
5����
�=��
�
%	 ��
%	�V�������'
���V�
�=�
%
�5�
�%����
�=�
�
��
�
�	5���!

5��
 �
 @��
 ����	 �
 �����
 	@
 �����
��
 < �
 �
 �		�
 + �
 �=�
 �	����
'
 =��
�
 ���'�

[��� 5��
 
��+	���<����'
 ���=
 5'
 �	���
 <����Z
 ���
 �=	���
 �=�
 *=����
@�������

5���
��������
�
<�%�5�
��5	��
��
����
��
������
�����	��
��
��
���
����
�=�5�6�

0	�
	��'
��
=�
+
	 �
	@
=��
v��%=��g �F�
< �
�=�
��'
=�
�+����
	@
�	5��

��
 ���	
 ��V	��
 	@
 � <����'
 ���
 
�@��%��
 =��
 ��%�
 	@
 
��+�%�
 �	��
��
 �=�5�#�

��c ��
 �
���@�%���	�
 ���
 �����@'���
 =��
 ��	
 �
�
 �=�
 	��'
 
���	��
 0�%=	���

�2
�	
�
 ��@	
5���	�
�<	 �
 �=�
+=��	5��	�
 %��
<�
 @	 ��
 ��
Q
� �K�
 ����'
��������
 v1�

�=�
 ��V�
���
 ������%'
 �	
��<���5���
 ��
 �=�
 �+=�
�
	@
 �	V�F
 A)���B�
�)
 � %=
 �
 V���
 	@
 �=�
 5���
 +
	���	����
 ��
 ������	����'
 �5+=������
 <'
 �=�
 �+��
�+=�

+
�%�����
 ��%=
 	@
 �=�
 �=
��
 +�
��
 	@
 �=�
 �	V��
 ���
 �����
 @
	5
 8���  �1���"���� %�� ��� /���"

<'
 ��
 ������ �=�
 �+��
�+=
 �	
 ��
�
 )
 
�@�
�
 �	
 v �
 �m<� %=�
 ��
 +
	@����	�F
 D
 +
	@����	���

+
	5��% ��'
 	

 �	5�	��
 �=	
 ��
 �c�
�5��'
 +
	5��% 	 �
 D
 �=�%=
 ��
 �
 V�
'
 �		�
 ���%
�+��	�

	@
0�%=	���
 <�@	
�
 �=�
 �
���@	
5���	��
��
3%%	
����
 �	
�� ������
5��
 � @@�
���
 @
	5
 �=�
 %	5+��c
 	@���
 ����
�
 v��c ���'
�%��V�

��@���'��F�
�=�%=
 ��5+�'
5����
 �=�'
 �
�
 +
	5��% 	 ��
�6
 $�
 Q	�����
)���&�#"�5�7	��	��
 )��,�
 +�
 �)�
 ���%�
 ���
 �=�
 g 	����	��
 %	5�
 @
	5
 �=��

�����	�
	@
 �=�
�	V���
��
����
��V�
 �=�
+���
� 5<�
�
 ��
+�
���=�����
�#
 Q	

 �c�5+��O
 v�=�
�
 ���
 ���	
 �
 ��
�
 �
 ���
 ��
��
 	@�F
 A�
 )/B�
 v�=�
���
 �<	 �
 �=�
�'�

�
 <	
�
 �+�����
�
 ���=
 �
 ��%�
 	@
 ��c ����'
 �	
 �	���
 �=��
 =�

 �5�
�
 %�	�=��
 ���
 �		
 =��V'

5���! +
 5���
 =�

 +��=���%Y
 ����
 ��
  �� %%���@ �
 ����=��F
 A�
 �2B�
 v�
 +�����
 �
 %	 +��
 	@

 �����
������!�		����
 ��
��
 	�
 �=�
 ����
����F
 A�
 ��B�
 v�=�
  ��'
 ��
��
 D
 �=�'
 ����'�
 �

�V�

@�
�����F
 A�
 ��B�
 � %=
 ��
 ����� ��
 �	��
��
 �	5��
 5�'
 � �����
 �=��
 0�%=	����
 9 ��
 ����

*�����
 ��
 �
 5��	�'�����
 ��c��5
 ���
 ��c ��
 �c+�	�����	�
 <����
 �'5+�	5�
 	@
 � %=
 �
 ����%�O

v3
 ��'
 %	5+	����
 	@
 5��	�'�'
 ��
 ���
�����	�
 <
	 �=�
 �<	 �
 �=
	 �=
 �=�
 ��V�� ���
 	@

�	5��F
 A��
��%%	�
��
7���	�
 	+�
 %����
+�
(6B�



��# �	9%��%=
-	
'�������

���������
���
5��������

�����	��=�+�
���=
�	5���
3�
� %=
�
v�	�
$ ��F�
=�

5����
���
<�����
�

�����	��=�+
���=
��
3 ��
�����
��
�
%�����
3���	�
&���'�

8	��V�
�
 �=��

 
�����	��=�+
 ��
 <����
 5����'
 	�
 ��c
 D
 � <%	��%�	 ��'�

0�%=	���
 �
����
3���	�
��
�
�=	
�!@�� 
��
=�
�	��
�	�
 �	V�
=�

���%����%���'�

��
 @�%��
=�
 ���
=�

	��'
 �	
 �����@'
=��
 ��c ��
������
 @	

=�5
3���	�
 ��
	��'

�
 ��c
 	<9�%��
�=��
 =�
 @����
 �=��
 �=�
 ��
�
 �	 ��
 ����
 �	
 <�
5	
�
 �=��
 9 ��

�
�	V�
�
=�
���V��
=�

���
��%�+��
�	
�
�
���
������
�	
���%=
4�����=�
���%�

=�
��
�%�
��
	@
 ����5�%'
���
��
 ��<��
�	
%	5<���
����
�
���=
�	V�
<�%� ���

��
��%%	
���
7���	
� ������
v�	V�
���
��c
�	
�	�
5��%=
 +
@	

�
5��
������

�=�
�	
��
�=
	 �=
�=�
������
	@
�=�
���	���
%	5+��cF���

1�
 �=�
 �������
 0�%=	���
 ����
 ���������
 ��
 �
 <���

�
 +�'%=	�
�5�

��
�%���
 <'
 �
 5'���
�	 �
 5����	���
�
 �� 
�%�
 *	�%=���
 � 
���
 �=�

�c+�
�5����
0�%=	���
5����
���
@����
��
�	V�
���=
�
��
�
%�����
7��'�
��
5��'

��'�
 =��
 @��%�����	�
 ���=
 �=�
 ��
�
 
���5<���
 *����K�
 @��%�����	�
 ���=

��
�����
< �
0�%=	���K�
��@�� ���	�
��
�	�
��V	��
	@
��c ��
 ���
�	����
�=�

=�
	
 ��
 ������
 ��c ��
 %	���%��
 ���=
 7��'�
 =	��V�
�
 �=�%=
 �����
 �	
 =��

@
 ��
���	��
 �= ��
 �=�
 �5���
 	@
 7��'
 ��
 0�%=����K�
 5���
 	�%�������
 <������

�=�
5��	���
���
�=�
�=	
��
3�
�=�
��5�
��5��
�=�
��5
	@
*	�%=��
���
=��

%�<��
 ��
 �	
 �=	�
 �	
 0�%=	���
 �=��
 ��
 ��
 3���	�
 �=	
 �=	 ��
 <�
 ����
 ��
 �=�

5��	����
 �	�
7��'�
3�
 �=�
 ���
 	@
 �=�
 �c+�
�5����
 �=�
 �5���
 	@
 7��'
 ��
 �=�

�=	
�
����
	V�

=�

5��	���!����
g ��������
�=�
���
�=�
���%����%
��+�%�
	@

�=��

�����	��=�+
 ��
�=�@���
 @
	5
7��'
 �	
3���	��
Q�����'�
0�%=	���
 ��
% 
��
	@

�=�
 %	5+��c
 ���
 ��
 %�+�<��
 	@
 @	
5���
 �
 =����='
 
�����	��=�+
 ���=
 =��

3 ��
�����
��
�@
�����
���=
�	V�
���
+����	�
%	5<�����

0�%=	���K�
�
���5���
��
�
�	��
���
���<	
���
+
	%���
�=�%=
<��
�
�
�
���


���5<���%�
 �	
+�'%=	����'����(�
 ��
 @�%��
 �=�
 %=�
�%��
�
 
�@�

 �	
Q
� �
���

$ ��
V�
'
@
�g ����'�
�=�
�
��
���	
�
�%���
��
�=�%=
0�%=	���
��
='+�	������

1�
�	5�
	�=�

 	%%���	�
=�
 ��
+
�������
���=
�
V�
'
��������
���%
�+��	�
	@

=��
 	��
 +�
�	�����'�
 �=�%=
 %	������
 �
 �	�
 	@
 +�'%=	����'��%��
 9�
�	��
 �=�


�+	
�
 ��
 g ����	�
5�'
 ���5
 ��
	���'
 �c����
�����
 < �
 �=�
�
 ��
 ���	
 �	5�

�
 �=
��
���
�	5�
	@
�=�

�5�
��
%	�%�
����
0�%=	���K�
+�
�	�����'
���5
V�
'

�%% 
����
 Q	

 ������%��
 �=�
 
�+	
�
 �
���
 �������	�
 �	
 �=�
 @�%�
 �=��
 �=�

<���������
	@
�=�
=�
	K�
+
	<��5�
�
�
�	
<�
@	 ��
��
=��
%=���=		��
�=�%=
��

�'+�%��
 	@
 �=�
 5��	���!�=	
�
 %	5+��c�
 �=���
 ���%
�<���
 =��
 <�%��
	 ���

0�%=	���!�=�
��

��	

��'�O

�
 =��
 �	��
 <�@	
�
5���
 �=�
 ���%	V�
'
 �=��
 �
 ��%���
 �=�
 +�
����
 ���
 ��%���	
�

�
�������
�'
@��=�

���
A���B
�
<
������
Y
���
5'
5	�=�

���
�=�
V�
'
5	���
	@

�
�	 ��!<�
5�9	
!����
��K�
��@��
�=��
���
�=�
��V�

�
� ��
���=
=�5
���
����'�

<�=�V��
��
�@
=�
��
�
���������
��
�=�
��c�

		5�
�V��
�=��
=�
���
�=	 �����

	@
5����
���'�
A�
)�B

��
��
��%%	�
��
7���	�
	+�
%����
+�
6��
�(
 ��'%=	����'����
 ��	��
���=
 �
	 +
 �=�
�+'�
 ��
 
���
���
 ��
 �=�
 <���
 �
���5���
 @	

 �=�

5��	���!�=	
�
 %	5+��c�
���
��
��%%	�
��
7���	�
 	+�
 %����
 +�
 /��



���)���8
������������������1�����&�%����>,�����������?���

8��
@��=�

���
V�
'
��5������
���
��
�%��
�=�
���
=��
��@�
���
�	����'

� <5����V�
 �	
 =�5�
�=�%=
=��
 �
 �
���
 �5+�%�
 	�
 �=�
 
�����	��=�+
���=
 =�


�	��
 0�%=	���!�=�
 ��

��	

 �	��
 �	�
 ��'
 5 %=
 �<	 �
 =��
 5	�=�
�
 �=�%=
 ��

V�
'
 �'5+�	5���%
 	@
 =��
 ��%�
 	@
 ����%=5���
 �	
 =�
�
 =�
 ���
 +
	<�<�'

����@@�
���
�	
=�

���
���
�	�

��+�%�
=�
�,�
0	�
� 
+
������'�
�= ��
0�%=	���

�%%�+��
 �=�
����
	@
=��
+�
����K
 �
���%
����=
���=	 �
5 %=
�5	��	�O
 v3@��


�=�
@�
��
�=	%�
�
@���
��
��5	��
�55������
�����
	@

����@�
	@
@
���	5F
A�
)(B�

;��	 <����'�
 =��
 ��%�
 	@
 �
 %�	��
 
�����	��=�+
 ���=
 =��
 5	�=�

 D
 =	��V�


%'��%��
���
����@@�
���
=�
5�'
+
�����
�	
<�
D
5���
=�5
��
 �=�++'
%=���

���
=��
=��
�
�
���
�5+�%�
	�
�=�
��'
=�
�
����
�	5���
��%� ����
�=�
5���

@�5���
+
	���	������
3���	�
���
7��'�

��
	
��

�	
�c�5���
0�%=	���K�
���	
��

��
5	
�
�������
��
��
��%����
'
�	

�		�
��
�=���
=�
	����
�=
	 �=
0�%=	���K�
�'��
���
���
=	�
=��
+�
%�+��	�
	@

�=�5
%=�����
�=
	 �=	 �
�=�
�	V���
3�
���
�����
@
	5
�=�
<��������
	@
�=��



�����	��=�+
0�%=	���
 �
����
3���	�
 ��
 �
 ��c
 	<9�%�
 	��'�
 �=�%=
 ���5�
 @
	5

�=�
 @�%�
 �=���
 ��
 &��=�
���
 ��
<	c
 �	����
 =�
 v=��
 ����'�
 ��@@�% ��'

 ���
��������
 �=�
 %	5+��c
 
�����	��=�+
 <������
 ��c
 ���
 �	V��
 8�
 ��V����

�	5��
���	
��	
%������O
�=	��
�=	
�
�
5����
�	
<�
�	V��
���
�=	��
�=	
�
�

5����
�	
<�
 ����
*	���g ����'�
=��
�@@��
�
���=
�	5��
�
�
��@	
5��
<'
=��

���<����'
 �	
 ���
 <�'	��
 �
<��
�
'
 %����	
���F�/�
 �= ��
 �=�
 
�����	��=�+
 ���=

3���	�
 D
 ���
 ���
 �=�
 �	5��
 <�@	
�
 =�

 D
 ��
 <����
 �	���'
 	�
 ��c�
 �=��

0�%=	���
�����
3���	�
�	
�	
��
	��'
�	
�����@'
=��
��c ��
�++������
=�
�	��
�	�

=�V�
��'
	�=�

�c+�%����	���
Q
	5
�=�
@�
��
5�������
=�
����
=�

��
��
���'

��
�
���
�
v%	�	����FO
v�=�
=��
%�����
�
�'
�'���
�=�
	��'
���	%���
�=����
��

�
%	

 +�
@�%��
��
�@
%�
% 5����%���
�	�
��� 
��
=��
@	
%��
=�

�	
<�
=�
��
A���B

�=�
 ���
 <���

��
 �
 ����
 	@
 = 5��
 	c'5	
	�F
 A�
 �#B�
 �=�
�
 �
�
 5��'

5	5����
�=��
0�%=	���
�		��
�	��
	�
3���	��
�= �
���
�����
=�

��
�
��'

�'+�%��
 	@
 �=�
 %	5+��cO
 vA���B
 �
 ���
 ���%=���
 =�
�
 �����%�����
 =�

 �%%����

+	���=���
 	@@
 =�

 
	 �=�����
 =�

 +
	V��%�����5�Y
 ��
 <��
 �=�
 ���
 �=�

���%=������F
A�
6�B�

��
��
�
 �
�=��
3���	�
��
@�

@
	5
<����
�
+
 ��
D
�@��

����
�=�'
�	
�	
<��

	�
�=�
��5�
�V�����
�=�'
5���
D
���
�=�
=��
g ���
�
<������
	@
�c+�
���%��

��%� ����
  �=�++'
 
�����	��=�+�
 ���
 ��
 �<	
��	��
 < �
 =�

 �c+�%����	��

%	�%�
����
�=�

�����	��=�+
���=
0�%=	���
�	
@�

<�'	��
+ 
�
��c�
�=�
�	V��

=�5�
< �
��
�=�
��5�
��5�
�=�

�������
�=��
=�
��
 ��<��
�	
	@@�

5	
�
�=��

�,
 8�
 @���
 V�
'
 ����
 �� �����K�
 �����5���
 �=��
 v�	5�
 5��
 ���=
 �=�
 %	5+��c
 ���+���

�=��

5	�=�
�F
 A��
�� ������
 	+�
 %����
 +�
 )(B�
��%%	
���
7���	
���	
 	<��
V�
 �=��
 v5	��
5����

�=	
+	�����
 �=�
���	���
 %	5+��c
=�V�
 ���
%=��
 @	

 ����5�%'
���=
 �=��

 	��
5	�=�
�
 < �

=�V�
 @�%��
 
�9�%��	��
 �=��

 5	�=�
�
 �
�
  � ���'
 %	��
 �	5��
 �=	
 5�'
 	

 5�'
 �	�
 ����

%�
�
 	@
 �=�5
 +='��%���'�
 < �
 �=�
 ��%�
 	@
 �5	��	�
 ��
 �
 %	���������F
 A��
 ��%%	�
 ��
 7���	�
 	+�

%����
 +�
 ��B�
�=��
 �����5���
 �c+�����
V�
'
����
 �=�
 	
�����
 	@
 �=�
 %	5+��c
 ��
<	�=
*����
���

0�%=	����
�/
&�
��
<	c�
)���B����1������@�!���5�3�=���!7	��	��
)�//�
++�
�)!���



��( �	9%��%=
-	
'�������

��c ��
����
��
��
@�%��
3���	�
��
@ ��'
���
�
	@
0�%=	���K�
+�
%�+��	�
	@
=�

��

�=�
�=	
�
 @�� 
��
� 
���
 	��
 	@
 �=��

 � 5�
	 �
 g �

����
 �=�
 �=	 ��O
 v�K5

�
�=	
�
���
�
%	�	����F
A�
6�B�
�c+�%����
0�%=	���
�	
���'�
< �
=�
	��'
��'�O

v�
���=
'	 
�	 ���K�
 ��
�=��
�	
�F
A�
6�B�
7���

	��
�=�
%����
=�5
v�
��	<�

�
+
���
�
��	+���'!=��@+���'
�	�
$ ��F
A�
#2B�

�=��
 0�%=	���
 ���V��
 3���	��
 =�
 @����
 �
 
����@�
 < �
 ���	
 �����@�%��	��

�=���
 �c%=������
 �����
�
���=
 =�
�
 =�
 ����<�
����'
�����
 �	
 = 
�
 =�

 �V��

5	
�O
 v�
�
	��
�
 �����

 ��

�+�'
�	
��'
�=��
�
=��
<���
�c+�%����
=�

 �����
�

�=��
 �=�
 ���
 +�
@�%��'
 @
���
 - �
 �
 �	
�
 ��
  +�
 �@
 ��'�=���
 5��=�
 = 
�
 =�
�

�����%�
�	 ��Y
���
�
������
�	
= 
�
=�
F
A�
��B�
3�
�=�
��5�
��5��
=	��V�
�

=�
 �	5���5��
 �=����
 	@
 3���	��
 < �
 �=���
 �
�
  � ���'
 5	5����
 	@
 ��c ��

@
 ��
���	�O
v�
<����
�	
�=���
�
	��%���'
	@
3���	�
�����Y
	@
�=�
��
�'
����!���

+���� 
��
 	@
 =�V���
 =�

 ��
 �	5�
3�=���
 =	���
 <��
		5���F
 A�
 )��B�
 ��
 @�%��

=��
@�����'
%	5��
�
 �
�	5�
��5�
����

D
0�%=	���
���
3���	�
5���
��
3�=���

���
 �	
 	�
 �
 �
�+
 �	
 ��
���� ��
 �=�
 ��%	 ���

 +
������
 0�%=	���
 ���=
 '��

��	�=�

	%%���	�
�	
 ��
���
= 
�
=�
�
8��
<�=�V�	 

� 
���
�=��

��%	 ���


���
�=��
=�
��'�
�<	 �
��
	��'
%	�@�
5
�=��
=��
+�
%�+��	�
	@
3���	�
��
�=�

�=	
�
=��
�	�
 %=�����
 ���%�
 �=�'
 +�
����
8�
��%����
 �	
5���
=�

 @	

 V�
'

���@��=

���	���
v	 �
	@
�
����
�
�	
+��'
5'
	��
�	 <��
��5�
���=
*	�%=��F

A�
�#�B
���
��
�V��
�
�	�
	@
+���� 
�
@
	5
�=��
v� +��%��'F
A�
�#�B�
����
�'���

�	
<	�=
3���	�
���
*	�%=���
0�%�
���%
�<��
3���	�
���=
�=�
@	��	����
�	
��O

v�=�
�
���
�	5��=���
�<	 �
3���	�K�
5����

���
�++��
��%�Y
�@
�
5��
���

���=
=�
�
=�
����
�	
<��
���=
=�
F
A�
�#/B�
�= �
�
'���
�	
<��5�
=�

@	

�=�

@�%�
�=��
�=�
��
�
�����
��
�
��c
	<9�%��

�=��
 ��
 5	
��
 0�%=	���
 ��
 ���=	����
 ���=
 3���	��
 ��
 	
��

 �	
 �V	��

=�V���
 ��c
 ���=
 =�

 D
 �	�
 @	

 �	<��
 
���	���
 < �
 <�%� ��
 =�
 ��
 ��
���'

@��%������
 ���=
 7��'
 D
 =�
 ��'�
 =�
 ��
 �	�
 ���	���
 �	
 =�V�
 ��c
 <�%� ��
 	@

�'+=����
�=�%=
=�
%	��
�%���
��
�
<
	�=��
��
3�=������
8�
���	
��%����
�	�
�	

5����	�
�=�
	�=�

��
�
�	
3���	�62�

8	��V�
�
 �=�'
 ���
  +
 5�����
 �	V�
 ���%��
 @�
��
 ��
 �=�
 %=�����
 �=��
 <'

�
����
��
�=�
@	
����
�=��
��
=	�
0�%=	���
���%
�<��
�=�
�%���
��
�=�
%=����O

�=�
 ��
�����
5�
%	5+�����'
 A���B
3�
�=�
%�
�����
5��
�
�=	 �=��
 ��K�
 ����
<����

���=
 �
 +
	���� ���
 =����
 ��
 ���+�
 ��
 �
 +
	���� ��K��
 �	�=���
 < �
 �
 5����

 	@

+���� 
�
 ���
���
�
��V�
��'
�	
 �=�
+���� 
�
�=�
��V�
5�
 A���B
3���	�
5 
5 
���

�=�@����
<��
5��
���'��
	V�

5�
��
�
%�
���
�=�
%�����
�=�
+��=�
%�
����
�=��
�=�

����
�
������
���
5��
�����Y
5'
5���
���
���
5'
���V��
A�
�(6D�(#B

�=
	 �=	 �
�=�
�%���
0�%=	���
%
�����
��
�5+
����	�
	@
<����
�
+����V�

V�%��5
 	@
 �=�
 %�
% 5����%���
�=�%=
 
���5<���
*����K�
 <�=�V�	 

 � 
���
 �=�

��� %��	�
 �%����
 ��
 �=�
��c�
 �	V�!5�����
 �%����
=	��V�
�
=�
 ��
5	
�
�%��V�

��
�=�
 @�%�
 �=��
=�
 @����
 ��
 ���'
 �	
 ����
 �<	 �
 V���
���
 ���������
 < �
�	�
=��
 �5	��	���

��
 �'5+�	5���%
	@
=��
 @��

	@
 ����5�%'�
�=�%=
 ��
'��
��	�=�

5���@������	�
	@
 �=�
 %	5+��c�
62
 7��������
 =�
 ��������'
 �	��
 �	�
 ����
 7��'
 �<	 �
 5������
 3���	�
 ��
 3�=����
 8�
 	��'

�	��
 ��
5 %=
 ����

���
 @	

+�
��% ��

 
���	���



��,)���8
������������������1�����&�%����>,�����������?���

���
5	
�
���
�
	@
 �=�
 �5+��%���	��
	@
=��
�%��	���
�=�%=
 ��
 %	���%���
���=

�=�
 %=����
 ��
���'
 ������
 +��%�
 ��
 =��
5����
 ���
�=�%=
����
 <�
 ���% ����

����
�
 �=�
5������
���=
3���	�
 ����
���=
 �
 <��
 
	�
 ���
5	
�
 �%% ����	���

�=�
 ��
�
 ��'�O
 F*=
����
 '	 K
�
 �	�
 9 ��
 �@
���
 	@
 �=�
 ��
�#� �	V��
X	 K
�
 �V��

�@
���
	@
 ����
�=�
�	
�
�	��
A���B
X	 
�=���
�	V�
��
��cF
A�
�,6B�
�=�%=
V�
'

����
 � 55�
����
 �=��

 
�����	��=�+
 ���
0�%=	���K�
 ����� ��
 �	��
��
�	5��

��
 ����
���
 �=�
 ��'
 0�%=	���
 �
����
3���	�
 	�
�	 ��
 ��
���� �
 ��
 +�
��'

%	���%���
���=
�=�
 @�%�
 �=��
=�
 ��
��
���'
���+�'
 ��@�� ����
���=
7��'�
�=	

D
��
���
����
D
	�%�������
��
=��
5���
<������
�=�
5��	���
���
�=�
�=	
��

Q
	5
 �=�
 <��������
 	@
 =��
 �%g ������%�
 ���=
 7��'
 0�%=	���
 �
���
 �	

��������
 �=�
 ��
�
 ��
 �=�
 ��5�
 ��'
 ��
 *����
 ���������
 ��
�����
 8�
�
 �=�

��� ���	�
 ��
 ������	����'
 %	5+��%����
 <'
7��'K�
 %	�������'
 %=������
 �������'�

Q�
���
 �=�
 ��
 +
�������
 �	
 �=�
 =�
	
 ��
 �
 �=	��
 	@
 *	�%=��K�
 ����
 @���%m��

3��=	 �=
 0�%=	���
 ��	��
 ��
 ��
 9 ��
 �
 ��5��
 =�
 ��������'
 �%%�+��
 �=�

��V�����	�
 �	
 +��'
 ��
 ���
 +
������
 �	
 <����V�
 ��
 �=�
 ��
�K�
 � +�
��� 
��

+
	V����%��
 8	��V�
�
 � %=
 �
 +�
%�+��	�
 	@
 =�

 %
�����
 ������%�
 <�%� ��

0�%=	���
 5�'
 @���
  �%	5@	
��<��
 �<	 �
 ����
���
 �	5�	��
 ����K�
 A*	�%=��K�B

�	5��
���
<�%� ��
7��'
<�=�V��
 ��
�
V�
'
	��!@��=�	���
���
+
 ���=
��'�

��
	��
	@
 �=�
�%�����
 @	

 ������%��
7��'
��'�O
 v3
�
'	 
������
5�
�	
%	55��

	�% ����	�RF
A�
)�/B�
�=�%=
�5 ���
0�%=	���
�������
	@
�c%�����
=�5�
7���
�

�=�
��
�
��
+
�������
��
*	�%=��K�
�%=��	+=
���%

�����V�
%�����
$ ���
8	�5���

��
�=��
%����
*	�%=��
	+���'
@	
<���
0�%=	���
�	
5���
��V��%��
	�
=�

��
=�

�	��
�	�
����
=��
v+������F
�	
���
%	�@ ���
	

= 
��

3�
 �=�
 ��5�
 ��5��
 �=�
 5���
 +
	���	����
 5����
 %	5+�
��	��
 <������

7��'
 ���
3���	��
 8��
 +�
%�+��	�
 	@
 �=�
 ��	
 �	5��
 ��
 %���
�'
 <����
 	�
 �=�

��%=	�	5'
5��	���
D
�=	
��
�=�%=
 ��
+�
��% ��
�'
V���<��
 ��
=��
�%%	 ��
	@

�=�
 ��
���� �
 �+��	���
 0�%=	���
 ����
 3���	�
 ��
 ����
 ���
�%��V�
 +='��%���'

D
 v�
���'
 ��	 �=
 <	�'�
 +
���'
 ��	 �=
 %�	�=���
 �
 �		�
 �����
 �=�
 ��5�
 	��

�	 ����
@�%�
���
�
 �=!�������
�'���
3���	�
5��=�
 �� �%=
���
�=�+�
 ��
5�Y

< �
 $ ���
 S7��'T
 �� �%=��
 �
 �=	 ����F
 A�
 �#(BF
 D
 < �
 ���	
 ����
 ����%���

�������%� ���'�
����
�	+=����%�����

0�%=	���
 �=����
 	@
 7��'
 � 
���
 =��
 ����
%	 
��
 ���=
3���	�
 ���
 D
 �@��


%	5���
<�%�
@
	5
3�=���
D
@����
� ���'
�<	 �
����+���
���=
=��
�c!��
�@
�����

3��=	 �=
=�
��
�	�
��
�

�����	��=�+
���=
7��'�
=�
@����
��
�@
=�
=��
%=�����

	�
=�
O
 v1�
5'
 ����
 �
 ����
 �=�
 �=	��
 	@
3���	��
 	@
�=��
=��
=�++����
 	�

��
���� �Y
�
@��%��

	@
�� ���
'�
�
5	5���K�
� ���F
A�
�/6B�
�= ��
0�%=	���K�

+�
%�+��	�
 	@
 �=�
 ��	
 ��
��
 
���5<���
 �
 �
������
 �'+�%��
 	@
 �=�
 5��	���!

�=	
�
%	5+��c�
�=�

�����	��=�+
��V	�V���
�=
��
+�	+���
�
5���
=��
��@�
���

=��
 �	V�
�
 ��
 �=��
 %����
 =	��V�
�
 �=�
 ��� ���	�
 ��
 %
�����
 �
��@�%����'
 <'

*	�%=��
���
7��'�
�=�
���
 ��%�
	@
 ��c
 ��
 �=�
 
�� ��
 	@
������
 	�
7��'K�
 �����

�	�
0�%=	���K�
v+�'%=�%��
�5+	���%�F�
�=����
�	
�=��
�5+	���
�<������%��
�=�

+
	���	����
���
��
�	
�++
�%����
	�=�

��+�%��
	@
@�5������'�



��/ �	9%��%=
-	
'�������

0�V�
�=������
 =�
 @����
 ��
 �c�
�5��'
 ��@@�% ��
 �	�
 �	
 @��������
 �<	 �
 �=�

'	 ��
��
��
0�%=	���
%
�V��
7��'
��c ���'
���
�V�
'�=���
=�
�	��
���5�
�	
<�

��%�����
<'
=��
=	+�
�=��
=�
����
@�����'
<�
��V��
�
%=��%�
�	
����+
���=
=�
�

8�
��
+�������
< �
��
�=�
��5�
��5�
=�
%���	�
��V�
���=	 �
��c�
�=��
��
�='

=�
5��� 
<����
 �	
5 %=�
 �=��
 ��
�='
=�
 V�����
 �
 <
	�=��
 ��
3�=����
 @�����'�

�=��
��
�='
=�
����+�
���=
3���	��
8�
��
�	
@
 ��
����
��c ���'
�=��
=�
�V��

%	�����
�
<�%	5���
�
=	5	��c ��6)�

7��'
 ��
 @ ��'
 ���
�
 	@
 =��
 ��c ��
 @
 ��
���	�
 ���
 �=�
 ��V��	+�
 �=��



�����	��=�+
��
� %=
�
��'
	�
+ 
+	���
�=��
�=�
��
@�����'

���'
�	
=�V�
��c

���=
0�%=	����
�=�
%���5�
�	
<�
=�V���
=�

+�
�	�
���
	��'
5��� 
<����
=�5�

7���
�
�=��
�=�'
@�����'
=�V�
��
����
%	 
���
�=�
<�=�V��
 ����
�
+
	���� ���

�=�
�
�����
g �%��'
�@��

�=�
����
%	 
���
�=�
���
�
�
	 +
	@
5��
����

�=�


		5
 ���
 �����+
 0�%=	����
 8	��V�
�
 �=�
 +
	���	����
 ��
 �=	%���
 5	
�
 <'

7��'K�
����@@�
��%�

��=�

�=��
<'
<����
����%=��
<'
�=�
5���

8��
 ���������
 +�
%�+��	�
 	@
 7��'
 ��
 @ 
�=�

 � <V�
���
 � 
���
 0�%=	���K�

�'5<	��%
�
����
�=��
=�
��
5���
�	
���%=
7��'
��
�
+	
�	�
�+=�%
@��5�
�=�
�

�=�
��
�=	��
��
�
v�=	
�F
	@
�
<��%�
v5	����

	@
�=�
��������++�F
+��'��
<'

$	��
7���
�
0�%=	���
 ��
 +
�������
���=
 �
 ��V�
 �%���
 	@
 �=�
 �<	V�
5����	���

%=�
�%��
�
 %	���� ���
 �=��

 ��c
�%�
 ��
 @
	��
	@
=��
 �'���
�=�
 �%���
 ��
 %�����

v������	c�%���	�F�
�=�%=
0�%=	���
���%
�<��
��
 v�
5���+=	
�%��
 A���B
 @�	�����F

A�
��)B
���
���
5���
+ 
+	��
��
�	
% 
�
0�%=	���
	@
7��'�
< �
���	
�	
% 
�
=�5

	@
 �=�
 5��	���!�=	
�
 %	5+��c�
 �=�
 �V���
 �	����'
 � <V�
��
 0�%=	���K�

+
�%	�%�+��	��
 �<	 �
 �	5��O
 v4V�
'�=���
 �
 =�V�
 �V�

 �=	 �=�
 �	

 ���
�����
 �<	 �
 �	5��
 
�%�����
 ����
�	V��
 @�	���
 ���	
 5'���
'�
 ���	

����	
����
 �=��	��
 ���
 % 

�����
 ����
 	<9�%��
 �������
 ���'�
 ���'�
 �	��

�=
	 �=
�=�@���
��+�=�
	@
����
F
A�
���B�

�=�
�����
	@
�V����
���%
�<��
�<	V�
�	�
	��'
�
���
0�%=	���K�
�������	�

�	
 7��'K�
 
���
 
	��
 ��
 �=�
 ��5�
 ���
 =��
 
�����	��=�+
 ���=
 =�
�
 < �
 ��
 ���	

5����
=�5
���
�
	@
=��

���
@�������
�	��
��
3���	��
8�
��	��'
%	5��
�	
���

5��	���
g �������
��
=��
�c!��
�@
�����
�=�
���
7��'
<�%	5��
D
����
���'
���

5���+=	
�%���'
D
�=�
�=	
��
0�%=	���K�
+�
%�+��	�
	@
3���	�
��
�=�
5��	���

@�� 
�
 �	��
 �	�
 %	5�
 ��
 �
 � ����
 
�V�����	��
 �=	 �=�
�=���
 �		����
 ��
 �=�

�V����
@
	5
��5+	
��
������%��
0�%=	���

�������
�=��
�=�
�
��
�
5��'
�����

�=��
3���	�
���
5	
�
 �=��
 9 ��
�
 �	V�
�
1��
	@
 � %=
�����
�++��
��
� 
���

�=�
 �
�+
 �	
 ��
���� ��
 �=��
3���	�
 ��	++��
 �	
 ����
 �	
 �	5�
 �	%��
 %=���
���

������
=�

���=
�=�
����
0�%=	���
@���
��
 �������@���
�5	��	�
�=�%=
5 %=

����

�++��
��
�	
<�
�	V��
1��'
�@��

�=�
������	c�%���	�
�	��
=�

������
�=��

=�
 �	V��
3���	�
 ���%����%���'�
 �= ��
 =��
 @�������
 �	��
��
7��'
 �
�
 � �=����%�

< �
�=�

�%�+����
�=	 ��
<�
��@@�
����
�=�

��������	�
�=��
=�
��
�<��
�	
�	V�
��

�=�
 @�
��
 ���+
 �	��
��
 <�%	5���
 �
 =����='
5���
;�@	
� �����'�
 ��
 %	5��
 ��

6)
0�%=	���
 �=	��
�
 �	�
 	@
 �'5+�	5�
 	@
 <����
�
 ��c
 ����%��
�=�%=
 ��
 ��	�=�

 @��� 
�
 	@

�=�
 5��	���!�=	
�
 %	5+��c�



���)���8
������������������1�����&�%����>,�����������?���

�
5	5���
�=��
0�%=	���
 �=����
3���	�
 ��
 �����
�=�
 ��� ���	�
���
��V����

<'
 *	�%=��
 ���
 ��
 =��+�
 0�%=	���
 �++
�%����
 3���	�
 �V��
 5	
��
 �=��
 =�

���
��
�=��
=�

� �%���
���
9 ��
�
@����
=�
��
%�
����
=�
�����
�	
<�
���=
=�


�	�
��
�
�	V�
�
< �
��
�
+�
���

��
��@��

3�
 �=�
 ��5�
 ��5�
 0�%=	���
 ���
��
 �	
 �++
�%����
 �	5��
 ��
 ����
���
 ��

��
�
 6
 	@
 �=�
 �	V��
 =�
 5����
 @
�����
 ���=
 ��	
 @�5����
 A&�5+
 ���
 $	9	B�

�=�%=
 �	 ��
 <�
 �5+	���<��
 @	

 �=�
 0�%=	���
 @
	5
 ��
�
 )�
 �= ��
 =�
 ��	+�

������
 �	5��
 ��
 ���=�

 5��	����
 	

 �=	
���
 =�
 �	��
 �	�
 �		�
 ��
 �V�
'

�	5��
 ��
 �
 +
	�+�%��V�
 ��c
 �	'�
 3�
 @	

 �=�
 �+=�
�
 	@
 
�����	��=�+��
 =�

 ���
�	��
�
�
�5���	 �
%=�����
�		�
3�
���
�� �����
�������
��
	
��

�	
<�

% 
��
 �
 5��
 � @@�
���
 @
	5
 �=�
 %	5+��c
 v5 ��
 ����
 �	
 %=����
 ���
 <�

5	��V����
 �	
 �	
 �=�
 �	
�
 ��%����
'
 ��
 	
��

 �	
 �
���
 ���
 �	5��
 ��
 �=	��

+�
�	��
D
<	�=
�		�
���
<��F6��
;��	 <����'�
0�%=	���
 ��
=��=�'
5	��V����

�	
%=����
���
=�
�	��
%=����
��
�=�
����
8�
����
3���	�
��
�
������
�����'�

�
 �	5��
 �=	5
 =�
 �	V��
 ���
 ����
��
 ��
 �=�
 ��5�
 ��5��
 ���=	 �
 ��%���

��c���'�
 0�%=	���
 ��
 �	
 �	���

 �@
���
 	@
 ����5�%'
 ���
 <�����
 �	
 �c+
���
 =��

�5	��	��
5	
�
	+���'�
�= ��
=�
��
@�����'
% 
��
	@
�=�
5��	���!�=	
�
%	5+��c�

� 55���
  +�
)��� ���������� ���
)���&�#"�� +
�����
 �=�
 ��5�
 +�'%=	!

�	��%��
 +=��	5��	��
 -	�=
 +
	���	�����
 � @@�

 @
	5
 �=�
 5��	���!�=	
�

%	5+��c
 ����
 %	���g ����'�
 �=�
�
 �
�
 5��'
 ��5���
�����
 <������
 �=��


+�
�	��������
���

�����	��=�+�
���=
�	5���
-	�=
*����
���
0�%=	���
��V���

@�5����
���	
	��'
��	
%����	
���
D
5��	����
���
�=	
��
D
���
�
�
 ��<��
�	

%	5<���
 �	V�
 ���
 ����
��
 �=��
 5����
 �=�
 %=�
�%��
�
 ��@@�
���
 ��
 5����'

�=��

 ����� ��
 �	��
��
 ��c�
 0�%=	���
 ��
 +
	5��% 	 ��
 �=�
���
 *����
 ��
 ��

�5+	�����
 �	
�	V�
�
 	��'
 	��
 	@
 �=�5
 A0�%=	���B
 ����
 % 
���
 �=�
���
 �=�

	�=�

 	��
 A*����B
 ����
 ����'�
 ��V���
 �	5��
 ���	
 �=���
 ��	
 �
	 +��
 �=�%=

5����
 =�5
 ��
 �c�
�5��'
 �
���%
 @�� 
��
 �= ��
 �=�
 ��	
 �	V���
 +
�����
 ��	

������%�
 ����
�
'
 +	
�
�'���
 	@
 �=�
 5��	���!�=	
�
 %	5+��c�
 	��
 	+��5����%

���
�=�
	�=�

+����5����%�
�=�%=

�@��%��
�=�
��� 
�
	@
�=�
%	5+��c
�����@
D
�@

�	�
�
������
�=�
%	5+��c
����
	'�
�=�
� @@�
�

���
�=�
+�	+��
%�	��
�	
=�5�

��
 ��
 ���	
 �	
�=
 �	����
 �=��
)��� ���������� ���
)���&�#"�� �
�
 �	�
 �=�

	��'
�	V���
<'
$	=�
Q	����
 ��
�=�%=
�
�%��
	@
 �=�
5��	���!�=	
�
%	5+��c

%��
 <�
 @	 ���
 1�=�

 5���
 +
	���	������
 � %=
 ��
 *=�
���
 �5��=�	�
 	@
 )��

@������8
�"������=��,�����
	

�=�
�+	�'5	 �
+
	���	����
	@
���
���&���
�5

���5
 �	
 ���+��'
 �	5�
 �'5+�	5�
 	@
 �=�
 %	5+��c�
 �		�
3�
 �=�
 ��5�
 ��5��
 ���

@�5���
 +
	���	�����
 %
�����
 <'
 Q	����
 �++��

 �	
 @���
 ���	
 	��
 	@
 �=�
 ��	

%����	
����
�=�'
�
�
���=�

�����
5��	����
	

��
�'
�=	
���
	

�
%	5<�����	�

	@
�=�
��	
�'+���

6�
��
�� ������
	+�
%����
+�
6/�



�62 �	9%��%=
-	
'�������

��)'�.9�&�/$

-
����
 3��
���
+
����
��� ��%��"��"���� B� .�"%�� �1� .�?"���+
����
��� 
�� 8
�����"���5

3��	%�����
;��V�
���'
�
����
*
��< 
'!7	��	�!�������� ���
)��(�

*		+�
�
��5����
)���@
��
�����1������@�!�������!��5������
A
��5�1��
�
�
����;��V�
��!

�'
	@
1�����
�
����
1������
)��)�

Q����
-
 %��
vQ
� �
���
7�%��
	�
7	V�O
3
�
���5���
'
4c+�	
���	�F
S��OT
vQ��	�	@���

V������F
�22(��M	� 5�
LLM���
0 5<�

��
++�
�(6D�/��

Q	���
�
�=	5��
*�
J�%������%
�#������@�!���5�;��V�
���'
	@
�	 �=
*�
	����
�
����

*	� 5<��
)��#�

Q	�����
$	=��
)������������5��=�
?���	5
8	 ��
�
	 +
7�5�����
7	��	��
)��/�

Q	�����
$	=��
)���&�#"�5��=�
?���	5
8	 ��
�
	 +
7�5�����
7	��	��
)��,�

�� ������
����
&�%����],�����������?��8�A��!
���"��.�?��.�?�!
���"��8�A�5�8	5�

���
7��� 
�
� <���=����
��%��
7�%���	�
�2))�

8�
�5����
 ;���
 v���5 ��
 Q
� �
 ���
 8��
 �5+�%�
 	�
 1 

 ;���
��������
 	@
 ����

��c ��
�'�@ �%��	�F
S��OT
v$	 
���
	@
��c ��
����%���F��22��
3 �
(
A/B�
++�
�66�D

D�66��

��%%	�
 ���
 7���	
 ��
 &�%����� ������?�� ,��� ���� ���� !
��%� ��� ������ ��� !����5

%=�+5 ���+ <���=����
-
����		��
�2))�

��
<	c�
&��=�
����
)���B����1������@�!���5��=�
;��V�
���'
	@
��	
���
�
����
3�=���!

7	��	��
)�//�

�����#
#�%��

3
�'� �
��%�'��
��H
	�
�
C����9
%=�
����
'��'��
���+	� 
5��	��'
�
����%���%'�
��'G
%���5

+
�%'
 9���
 �����������
 ���5���C�
 ���	
 �'��
	5 
 �
 �+	�	<��
 �
�	�����
 <	=���
C�
 �
 ��C%=

+	���I%��%=
$	=��
Q	������
-������������� �
&�#"�
����
�
���
�
��H
�	���IJ�
G�
��C���
+
	���	!

��I%�
�'%=
 ��	
C�
D
Q
���
�%�
*����
�
0�%=	���
;
@�
D
%��
+�.
��
���+C�
5��	��'
�
����%���%'�

%	
�+�'��
��
 �%=
 G'%���
 ������%��
 
���%9�
 �
 �	<����5��
 �
 ���G�
 9���
 ���.
 ��+H�	�.
 �%=
 �������

�
+	��95	���'%=
+
���
��%=
��%'�9��
��5	
��%��'%=
+	�	<������
5�H��'
<	=���
�5��
 ����
�%���

	<
��'
 �	5+���� 
 �
 �'%=
 ��C%=
 +	���I%��%=
 �.
 
CG���
 0�%=	���
 �	���9�
 �'��%�	�'
 �
 +	���IJ

�	�%�'
 ��H
 ��%�HI������
 +	�%���
 ��'
 %=	
	<�
*�����
 ���9�
 ��H
 <'J
��� ��%������
 %	
 +
	�����
 �	

I5��
%�
��
���'�
 �
 ���G�
 +
�'+ ��%������
 +
�'%�'���
 ��H
 �	
 �
������
 �	��9�'%=
 �	<���
�
 +
�'!

���	I%��


